
|sin^2x+2cosx+a|=sin^2x+cosx-a

cosx+2a=0
cosx=-2a
x=+-arccos(-2a)+2Pk

sin^2x+2cosx+a=-sin^2x-cosx+a
2sin^2x+3cosx=0
2(1-cos^2x)+3cosx=0
2-2cos^2x+3cosx=0
cosx=t
-2t^2+3t+2=0
t=2;-1/2
cosx=2 (-)
cosx=-½
x=2P/3+2Pk
x=4P/3+2Pk

|x|=y x=y
x=-y

<=>

|x|=y
1.x>0
x=y

|x|=y
2.x<0
-x=y

x=y
x>0

-x=y
x<0
-x>0

y>0

x=2P/3

1 случай 
2-ое уравнение 
совокупности имеет 
x=2P/3
А первое не имеет 
решений
0<=-2a<=1
0>=a>=-½
aэ[-½;0]

2 случай
2-ое уравнение 
совокупности имеет
x=2P/3
И первое имеет 
решение 
cos(2P/3)=-2a
при  -2а=-½
a=1/4

Ответ:
aэ[-½;0]U{1/4}


